TC Series
50/60 Hz Industrial Current Transformer up to 600A

Features

- For 50/60 Hz current, from 25 to 600 A
nominal primary current.

- High number of secondary turns for a precise
measurements of primary current.

- Low value for secondary currents, directly
suitable for electronic circuit measurements.

- Cases made of UL94-VO material.

- Insulation prim/sec 4K Vac.

- Operating temperature from -40° to 70° C.

Product List

Current Transformers & Sensors

Part Number IFAI)S Ns (\\//ch) (RQB) Accuracy Case Outputs Diagram
TC-1012505 25/0.05 500 2 40 2% A 1-2 1
TC-1015005 50/0.05 1000 4 80 1% A 1-2 1
TC-2011002 100/ 0.2 500 4 20 1% B 1-4 2
TC-2011001 100/0.1 1000 4 20 0.5% B 1-4 2
TC-3014004 400/ 0.4 1000 8 20 0.5% C 1-4 2
TC-3014002 400/0.2 2000 4 20 0.25% C 1-4 2
TC-3016006 600/0.6 1000 6 10 0.25% C 1-4 2
TC-3016002 600 /0.2 3000 4 20 0.5% C 1-4 2
25/0.2 125 4 20 2.5% B 1-2 3
TC-2031002 50/0.2 250 4 20 1.5% B 1-3 3
100/ 0.2 500 4 20 1% B 1-4 3
200/0.2 1000 4 20 0.5% C 1-2 3
TC-3034002 300/0.2 1500 4 20 0.35% C 1-3 3
400/ 0.2 2000 4 20 0.25% C 1-4 3
200/0.4 500 8 20 1% C 1-2 3
TC-3036004 400/0.4 1000 8 20 0.5% C 1-3 3
600/ 0.4 1500 8 20 0.25% C 1-4 3
Notes:
Ip: Primary alternating current (rms)  Is: Secondary alternating current (rms)  Ns: Secondary turns.
VB: Voltage in RB (rms) RB: Secondary load resistance.
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TC Series

50/60 Hz Industrial Current Transformer up to 600A

Dimensions
CASEB

3> ‘4744 ‘ s 3
T \ \
15

SENE
15 [# F
! ‘ !

s 40—l sla

7 1212 127 2mjp
10 [ (o a & a H
T 1 2 3 4
27 I
62
@’]8 qli

25 ]
i PREMO [ —

10.2ke— 50— =J10.2 8 l=14m] 8

70.44-—11» Lw
CASE C

L L
7.5 | . .
15 E O
5 19] 9]
745

1 2 3 4
39
86 ~N 0 | ov T
10.5 @E
S L
37
— PREMO

!
3

: — :
eto.zLig%i—sz% w%b‘ 8
9.

FIXATION:

Holes for self-tapping screws 2.9 x 9 or M4 screws and nuts.
Dimensions in mm.
Pin dimensions: 6.35 x 0.80 mm.

Test Circuit
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Electric Diagram
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